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NAMING HYDROCARBONS

Name

1.

’ Name the compounds below according to the IUPAC naming system

5 H H H

Lo
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Lo

H Hy c—H
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2. 6. o
H H ‘;‘ ';' H ?HsH
|
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Lo
H H _H H H
3. 7.
T_ H H H H H
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Regents Chemistry: Alkenes & Alkynes #2

Name:

Date:
Name #0fC | #ofH | Chemical Structural Formula
atoms atoms Formula
2 4
e
3 6
2-butyne
CaH;
3 4 q
|
methyl
propene
CsHg
3-methyl-1-
pentyne
1-butyne

A
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R CARBON + HYDROTRRE

KaMme THese _ AL kaNE 5 .

/ CH5- CHZ‘ CHz‘f CH‘L.— CF.HZ.— .C_H5
Q. | CHx- CH,~ CH, - ?H- CHS
CH3
3. | CH3" CHZ_ (EH - CHl‘ CH3 |
- © CH,
o CHy- CH-CH - CHy B C My~ O O4amCH-CHy
T | | _'
C CH'3 QHS . . ' ' CHz" CH3
' ! . l
5, Hy~ C - - . -C~-CH,-CH-C
CHy (l‘. CH,- CH 4 q _CH3 C“—.QH,_. H- Hy
CHy | CHy
CH3 C,H | . . CHz"CH3
T 0. Chyr CHy-CH- -CH- Ch- CH,_CHIC
3 CH=C - Ciy- Chy~ Ch &, CH3
QH%""CH3 CH;_ CH3
- Chy~ T oy - CHy - . CHz CHy™

7 CH3—C Chy- CH, - CH - CH, - CHy
CHs CH;_ CHy
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STRUCTURE OF HYDROCARBONS Name

Jraw the structurse of the compounds below,

1. ethane 5, ethyne
2. propene 6. 3, 3-dimethyl pentane
3. 2-butene | 7. 2,3-dmethyl pentane

A. methane 8. #~butyne




- Name | p5  Dale- (¥

Which element is present in all organic 6. Which representation is the structural formula of
‘compounds? : an organic compound?
(1) carbon (3) nitrogen O H () CHy
(2) oxygen (4) hydrogen . e c:; h
Which statement explains why the element H
carbon forms so many compounds? _
(1) Carbon atorns combine readily with oxygen. | - - (2) HeN—H ' (4) NHg
(2) Carbon atoms have very high 1
electronegativity. . H
(3) Carbon readily forms ionic bonds with other
carbon atoms. :
(4) Carbon readily forms covalent bonds with 7. As the number of carbon atoms in a hydrocarbon
other carbon atoms. molecule increases, the number of possible
isomers generally

. The four single bonds of a carbon atom are -
directed in space toward the corners of a
(1) trigonal bipyramid  (3) regular octahedron
(2) square plane (4) regular tetrahedron] 8, Which pair of compounds-are isomers?
' (1) CH,CH,0H and CH;COOH
(2) CH,CH,CH and CH,0CH,
(3) CeHlg and C¢H,),

(1) decreases (3) remains the same
(2) increases

. Organic.compounds differ from inorganic
compounds in that organic compounds generally

have

(4)C,H,and C
(1) low melting points and are electrolytes z s
(2) low melting points and are nonelectrolytes 9. Iftwo compounds are isomers, they must have
(3) high melting points and are electrolytes the same :
(4) high melting points and are nonelectrolytes (1) boiling point

~ (2) vapor pressure
(3). structure
(4) percentage composition

.. In general, which property do organic
compounds share?

(1) slow reaction rate

(2) readily soluble in water 10. Which hydrocarbon has more than one possible
(3) high electrical conductivity structural formula?
(4) high melting point (1) CHy (3) C,H,

(2) CHg (4) CH,

11. What is the maximum number of covalent bonds
that can be formed by one carbon atom?

11 (3) 3
()2 4) 4

rsion C
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12, Which formula is an isomer of butane?

MY o @) H
G==C—C—C~—H
R I -
H H ‘ H

H
)] H (4) T T T
H—p—a H—G—C—C—H

¢y an
H—C—C—C—H H H
i ] | H—C—H

H H |

H ?—H H

H

13. Which formula represents an unsaturated

hydrocarbon?
¢)) ' ®) wowmn
}=< e b by
8k
@ ua=m ) I'i (IT
B & & n H—C—C—OH

kA k

" 14. Which structural formula represents a saturated

hydrocarbon? .

SN T ET
“‘H—C~C—G— —C—C—C—
DO nETET

H H H H HH

(2) H HH (4) H

HC—timGh \C—é—t!‘.—H
SN e l
H OHH H

15. In which group could the hydrocarbons all
belong to the same alkene series? a\Rene
(1) GH, CGH, CH,  (3) GH,, GH,, CH,
(2) GH, CHg, CHy  (4) CH,, CH,, CH,

16, Which formula represents a saturated
hydrocarbon?

(1) CH,
(2) CH,

17. Which is the correct structural formula of
propene?

(3) G;H,
(4) C;Hy

) . ® mEw
H—C=C—H H—c=c—i_n
2) (4) 1'1 H H
H—C=C—H H—-G=(}J—(if:—1{
' H

18. Which sequence représents only alkenes?
(1) CGH, CHg, CH;  (3) C,H,, C,H,, CgHy
(@) CH,, CH, CH, (4) CH,CH, C,H,

19. In which compound does a double covalent bond |
exist between two carbon atoms? .%

(1) CH, () Gl
(2) C,H, (4) CHyg
20. Which compound contains a triple bond?
(1) CH, () C;H;
(2) CH, @) CH,
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Name

Qe B

Halocarbon, alcohol, ether

Draw the following:

1.

Ja m4

A

Q) M-C— € — ¢ —¢_

1 — pentanol

3 — chlorooctane
Ethyl propy! ether
Diethy! Ether
2-butanol

3,4-dibromo-2-chloro-2,3,4-trifluoro-1-iodopentane

How 1 g

| { : v

’

-H
{ \ I [ C"
H o H H

I.-'f\-I_

m H

1 |
m) H—qno— C-H

H H

ll\ How are #% 7{ G Relnfed
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i ‘Regents Chemlstry Hydrocarbon Derivatives #1 @
-Name: , Date:
L Circle the functional group(s) in each compound below. Identify the functional group. Name
| the compound. '
- [1 6.
A e
: !
H—Cj- C —C - “C-H |H-¢-C-C-C—¢-H
{
H H H H H H H
Functional Group: | Functional Group:
| Name: Name:
2. 7
A 0 % H
| Co ! \ H
|l p-¢-C-0—C -H H-C—- NT |
H H H
Functional Group: ' Functional Group:
Name Name:
8.
‘ H OH H H Hocp H
{
. HCCT c‘_ C H H—c ¢ -C=-C-H
l
bowogoH qoH oA oH
Functional Group: Functional Group:
Name: Name:
4, ‘ 9. H I
ﬁ H H ) - H
| H«C‘_-—-é_\_'—O““é‘.““H W - C. C - N H
H o H \
Functional Group: Functional Group:
Name: Name:
5. 5 10.
Hod g o« H v 9
; Voo M \ L i
Megrg-tmgmcmen | NS G- e o
‘ Hod o H H H
3 Functional Group: Functional Group:
Name: My
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NAMING OTHER Name

‘RGANIC COMPOUNDS

Name the compounds below.

_ T
=
T | 5 |
: —-—0O—x
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[ =0 N —_ ey
o T-o-z | o=0 °=9
_ - 3 r-0-xX _
: S —O—-x
o=0 OlwﬂH _ T-0—-XI° * i
I : r—0-—xI | s
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|
T T - T
% =
.
T . + W
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. N o I HI..C.IH =&
* % * 0=0 N © g w
: T -0O-I
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T
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Regents Chemistry: Hydrocarbon Derivatives
Name: ‘ Date:

Classify each of the organic compounds below as an alcohol, carboxyfic acid,
aldehyde, ketone, ether, or ester, draw its structural formula, and name it.

T. .CHa(.:HZOCHs ~ [ 6. CHLCHIOHICH;
2. CHzOCH, 7. CHCH,COOH

“"é."'cﬁ;cbé‘H |8 CHoHg©o0GH,
4. CHsCOCHj |9, CHyCH,COCH,
5. CH4CH,OH 10. CHE,CHZCHO
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Name:

M i3

Period:

Name the compaounds 1o the right

i

o w R
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7 b0¥aﬂou

8) m“(fu’\‘(\ ,LiHI\RV\ 00&‘\& |

5 5- k&ﬂmm\L

o) ?Fc’ﬁﬂ\ ;@'RI\G\V\OUV‘\‘Q.

MZ LOl/\a-{— oCqanic ce'd and what glcowo) r<qct

to ferm

esfer ch‘cSwh'or\ 17?

!
€




AR l"‘ﬂ‘ “{ Par tad -

Name Par fovn povndd o e Right

= CH30 CH,CHy

A

oo U Ho d
_ { i ! '
< H—c{—§~c-o—c.-c-—-c~H
L L

0

A
= H"C—C""“f“_“

H oo

Deraw e Fo l\ow\\nl Lompoonds

W\C‘\’\I\ahofc__ C(CL\CJ(

metay Propy( otier

™
oy
£

PlnLﬁnofc acM

,d’\/\a N a\

> 2P\ aneic gecd

EDV‘US (H ) Draw Salicylic Aecd

L Nok anilable durtf coerechioms -




ol s (@

Add Across A Bond ?ﬁﬁf ; 5

1 of the reactants is an unsaturated '
Addition hydrocarbon. Get only one product.
‘ H ~ -~ H H\ ﬁ

| Swap something for H's.

1 of the reactants is a saturated
hydrocarbon. Get:two products.
Substitution MK u };{

. C Yo ' 2
H*%wC{-H + ‘—'QZ_"") H-q % H AN Hq
ooy H g

Organic Acid + Alcohol — Ester + H0

Esterification

' Making soap. Start with a huge ester and a
P T meemiasste s -3 gsg (usually NaOH). Produce alcoliol and
a soap.

Saponification

Champagne.

LN 2Y s
: CeH120¢ — 2 CHsOH + 2CO-
Fermentation
Sugar + enzyme catalyst yields carbonated
alcohol

Start with unsaturated monomers and get
only one product, a polymer with an all C
£ backbone. TR
Polymerization H\ M b
Addition N C= C.\ —> ———é(’, — (I‘%
/
H H y A

Monomers contain OH an r NH; groups.
Get two products, a polymér and H;O.

Polymerization

H
Condensation o’é-ml ¥ HD—%—‘@H -7 HD— L—(—’O‘“

n 2

Cprbushon Reackion with O prodwcng CQ, ‘L@
. . v CuHio+ 1302 == §COz + I0HRO
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Name: Write the Products and Name the Type of Reaction

ﬂ b M o M
H b } 4 B
4 { ¢
Mo o o
) i
] M
o Lo
H»%e@w@%%» Ho=C=cy
{ ! -
H o LS S

H~CZTC-H + 2¢eess Fy, —>

2{ma5e
C@Hlﬁ. (o 7

Fot + KoH —




Which is the structural formula of a primary alcohol?

A OE N
@ Hofo Gl @ R—oCgon
H. . H H H H H
o
FE ey
| | . ~
e T
H OHH - H HHH H
Which is the formula of methanal?
. lil )
H—C \ He— C—-OH -
. < @ K rl: OH
0 o “H
A I
3) H—C i —c'—H
® m—c( . @hE—c—
<OH . H

Wlnch furmula represems an urganu: acxd'f (€3] HCOOCH
(2)CH,CH,OH (3) CH,COCH, (4)HCOOH .
Which compound is an isomer of propanone

S
e
H 0 H
, BB g H H
A T - i f
(n H—C—? o @ H—C—Cc—CQ
‘H xR oA o
H H H H O
| | S [ | ’
)] H—":—(l:—t,:*—OH @ H—('Z—C-'—H .-

H H H . H

thers-can be synthesized by dehydration of (1) primary alcohols
2) organic acids (3) organic ketones (4) aldehydes

Which formula represents 1,2-cthanediol? (l} C,H,(OH),
2) GH,(OR), (3) €a(OH), (4) Co(OH),

Which structural formula represents a tribydroxy al_cohol’! |

i
S_T—g_ HOH A
it L o
H OHH OH OH OH-

H H'H HOH OH
k) H—-c::'—,c;'—c—ﬂ @ H—(:!—CITC—OH
H -OH OH H H H

Which statement is true for a compound whosg formula is
“H;CH,COOH? (1) Itisan alcohol. (2) Itisanacid. (3)Its
olution turns litmus blue. (4) Irs solution l‘.m'ns phenolphthalem
fink.

'rimary alcohols can be dehydtated to produce (1) ethcrs
2) organic acid (3) esters (4) aldehydes

Which class of compounds has the general foimula R—O-R,?
1) esters (2) alcohols (3) ethers™ (4) aldehydes .

Which structural formula represents a dihydroxy aléohol?”

&
!;I Ell H-—(':--OH
H) H-'—cI:—cI:'—oH . @ H— <':—oa
" 'H H® H—-?—OH
‘H
.,ZH_
. AN
] : H—C; " C—H
H—C-—O0H ] [+ 3]
DL ) B—C ., C—H
u-—cl:_-—or{ ~

7.

10.

27.

16,

17.

18,

- organic reaction is usually (1) faster, because the organic particles

Compared with the rale of an inorganic reaction the rate of an ? \’)
'

arc ions  (2) faster, because the organic particles are molecules

(3) slower, because the organic particles are jonic (4) slower,

because the organic particles are molecules

Which pair of compounds are isomers?

(1) CH, and CH,;  (2) CH, and CH; (3) CH,CH,0H and

CH,COOH (4) CH,CH,0H and CH,OCH,

Which compound is an isomer of C,H,OH?

(1) GH,CH, (2)C,H,0CH, (3) QH,COOC,H (4) CH,COOH

As lhc number of carbon atoms in a hydrocarbon molecule

increases, the number of possible isomers generally (1) decreases

{2) increascs (3) remains the same

In ihe alkane series, each.nolecule contains (1) only one double

bond (2) two double bonds  (3) ane triple bond (4) all single

bonds

Which is the structural formula of methane?

@2 (N3 @4

()CH,OH (1) GH,OH (3)HCOOH (4)HCH,O,
. What is the total number of hydroxyl groups contained in one

14." What is the minimum number of carbon atoms a ketone may
- (1) glycerol  (2) butanol * (3) ethanol (4) methanol

‘Which compound is an electrolyte? .
() GH0H (2) GH,(OH); () CH,OH @) CE*I:COOH

"Molecules of 1-propanal and i-prupnrlol have differeat

{2) molecular masses

e TR
<3mZ
.« Q0 8
g9 E8- .
~. E oy = 2
- Dt
. ~g =3 e ‘é
il H M -TLEIE R
() H—C—C—H @° Cc=C « "E - Q. E
o W SEga528 &S
v_ -u : .
~EgE8Ed L
~ o '-“ -
I SimEpas 3
! ' , . a o o
T " IiEs5%F B8
(5} Gl ]
3) H—C——C—C~— —_—C— . Pt S o
@R @ weg FEcEsEt 3€
H H H H N . g .
: ¥ 5 5. @
Which structural formula represents a salurated hydrocarboa?
i H_ - o M
() H—e—C—H @ c=c
[ ~ ~ PR
H H H H :I
H H ‘H © <. =——f.|:—=
¢ ¢ Eommom om-
(3) i—C—C—q @ H—-(l'.‘—C—Cl g ]
Pll lli ‘H- ®  me-u—m m—
R
‘Which structural formula represents a compound that is an isomer g 8
of 8.
H]
Py 3
i =
H—C—C—C-—C—H? B 5
| | = [
H H H Br g o=0 o=
BF H H H H llar Blr lllr g =_'+_= m—
T e I | @
(¢)) H_?—C—(I:_‘l: IC —H (2) H—(I:——C—(l:—H g =
| ' "~
‘H. H H o)
Br H H . H Y-
H g
)
Br—C —Br =w g M
H Br H H ] : E 8 'é 2
l (I: (II(I:B @ H_cf—" Sz § g8
H—C—C—C—C—Br - £ s &3
@ ) tli H—(lj—H Eg £ ;g
| "] £E g. 1)
H 25 = E a2
F§38 &%
g 3 u =
The type of reaction represented by the equation . s =52 E -
CH,;+H, - CH; iscalled (1) subsututmn '(2) polymenznnun e 8 S . ==
(3) addition (4) esterification . {8 2>5 L8s
Which reaction is used to produce polyethylene (C,H,), from ‘5 %’ 2ok E EA
cthylene? (1) addition polymenzahon [#)] suhsututxon e P = "=E,’ € = u -
(3) condensation polymcuzauon {4) reduction 8> E - : = -.‘:-
The process of opening double bonds and joining mnnnmcr E 2 s 'E §g : 3
molecules to form polyvinyl chioride'is called (1) addition g3 E g8 3 E %
polytnerization (2) condensation polymenznhon @) dehydrauon 5 ;‘a? g & g E2
polymerization (4) neutralization polymerization ] 53 ‘: : g : *
Which hydrocarbon will undergo a substitition reaction with By E :a;n ; = g
. chlorine? (1) methane 4(_2)'e‘tllyne {3) propene (4) butene :=: E'E %"-E 8 -g s
= TS P
‘Methanol is classified as a (1) momohydroxy alcohol < o6 SN =] e.
(2) secondary alcohol (3)temaryalcohol (4)d1hydmxyalcohol . § -

(4) structural formulas .

. (3) molecular formulas

In an aqueous solution, which compound will be acidic?
(1) CH,COOH (2) CH,CH,0H (3) C;H,(OH); (4) CH;0H.

20.



.
. @) H—C—C—Br

5.

7

10.

12.

13.

‘The organic reaction '

HCOOH + CH,CH,CH,CH,OH —» HCOOCH,CH,CH,CH, + HOH,
is an example of (1) fermentation  (2) esterification

(3) polymerization - (4) sapomﬁcauon

Alkanes differ from alkenes in that alkanes (1) are hydrucarbuns
(2) are saturated compounds (3) have the general formula C 1,
(4) undergo addition reactions

‘Which molecule is represented by X in the reacuon

H-C == C-H+2Br, »X?

1y 1

(1 H—? C—m @ E—G—¢H,
- H H ’ B.r: Br’
"H.H . - "Br Br
i : T

' @ H—C—C—H

B Br Br Br -

.. Which equation represents an esterification reaction?

(1) GH,,0,~2C;H,0H + 2C0,
@ CH,+H,—»CH,

@) CH, +Cl,— GHCl + HCl
(4) HCOCH + CH ,0H— HCOOCH, + HOH

‘What is the correct IUPAC name for
' H oaa .
. 11
= H'A-C—c—(l:—l-l ?
N -1

".H ‘H H

(2) 2,3-dichlorobutane

(¢)) 1.2-d1chloxobutane o :
(4) 2,3-dichloropropane

M1 2—d.1chlor0pmpane

" -Which equation represents a subsmmtmn reaction?

{1) CH, +20,-» CO, + 2H,Q

(2) CH, +Br, - CHBr;

() CH+H, — Gl

(4) CHy, +Cl, —» CHCl+HCl

. Which reaction produces ethyl alcohol as one of the principal

. praducts? (1Y an esterification reaction (2) 2 neutralization

reaction (3) a sapumﬁcmon :eacuon ) a fermentahon reaction

Which is the product of the reaction between ethene and chlarine?

A S

W B—g-c—a @ H—c—a
"H H . H
H H : . ‘H

ma—f-—a . © a¢-a
H H . - H

T which type of reaction are long-chain molecules formed from
smaller molécules? (1) substitution (2) sapomficahon
J) fcrmenmuon (4) polymerization

Cellulose is an example of (1) a synthetic polymer (2) a natural
polymer (3)anester (4)akefone °

A reaction between CH,COOH and an alcohol produced the ester
CH,COOCH,. The alcohol used in the reaction 'was (1) CH,OH
{2) GH,0H (3) CHOH () CHOH - -

An alcohiol and an organic acid are combined to form water and a
compound with a pleasant odor. “This reactjon is an exampte of
(1) saponification (2)- esterification (3) polymerization
(4) fefmentation oo

Given the gquatiun:"

H H. .

- [y
H—O—E_E_O_H +K—O—(|:—E—O—H -+ H—o—tl:—tlz—u—g—c‘:—o—ﬂ + H,o

14

‘Which type.of reaction is represented? .

(1) condensation polymerization (2) addition polymerization
(4) esterification (4) saponification - ) '

‘Which is the formula of 2,2-dichloropropane?

H H-

Tes o LR
Sh o L e
H H H ) HE G H
H C a-H "H a'H
O Y U I I N
OR—g=C—i—tR @u—fogpton
H H H H . H 4

11.

‘13,

14,
‘15,

16.

17.

18.

13,

20.

21.

22,

26.

.(3) CH,CH,CH,CH,0H

‘Which is the structural formula of ethene?

H H H H
(H Se—c” @ ~e=c”
s ~ s ~
H H H H
H H H /H
@3 c¢=C 4 c=cC
s ~ ~
H H H H

What is the formula of penlr;ﬁb? () CH, CH, 3)CH,,
4 CH,

‘What is the total number of pairs of clectrons that one carbon atom
shares with the other carbon atom in the molecule C;H,?

m: @2 @3 B4

Which formula represents an alkene? (1) CH,
®) GH, (4) CH,

1In which hydrocarbon series does cach molecule contain one triple
bond? (1)alkane (2)alkenc (3)alkyne (4) benzenc
Which set of formulas represents members of the same
homologous series? (1) C, CH,CHO (2) CH, CH,CH,
() G, GH, CH, (4) CH, CH, CH,

‘Which hydrocarbon is a member of the series with the general
formula CH,,;? (1)ethyne (2)~thene (3) butane (4) benzene
Given the compound:

@ CH,

T
=—?—=
Q—mx

|
n—x
~h—

|

=

H

‘What is the gencral formula of the hydrocarbon series of which
this compnund isamember? (1)CH,, ,, DCH, (3)ICH,,
4 CHy 4

Given the compounds:

CH,CH,CH,CH, and CH,,THCH,
CH!

Tliese compounds are both (1) alkynes (2) alkenes {3) isomers of
butane (4) isomers of propane

A compound with the formula CH, is (1) toluere
(3) butene (4) pentene
Which structural formula represents an aromatic hydrocarbon?

(2) benzene
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The compound CH,CH,CH,CH, belongs to the series that has the
general formula (1) CH,,, (2) CH,,,, Q)CH,, (HCH,,
Which diagram may be used to represent a benzene ring?

OAT QO

(1) 2) (€Y )
Which structural formula represents a saturated compound?
H H
Ned i , "
m = (2) H—Cm=C—C—H
H H !
H H H "
H- H
H—(IZ—-(ll-—é-—H \C=é—2'—C/H
R @ - N
H H H H H

Which kind of bond is most common in organic compounds?
(1) covalent (2)ionic (3) hydrogen (4) electrovalent

Which is an isomer of CH,CH,CH,COOH?

(1) CH,CH,0CH,CH, (2) CH,CH,CH,0CH,

(4) CH,COOCH,CH,

?aqt }
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A compound that is classified as organic must contain the element
(1) carbon (2) nitrogen  (3) oxXygen (4) hydrogen

. What is the Eeomelric shape of 2 methane molecule?
r

(1) triangu (2) rectangular (3) octahedral (4) tetrahedral .

In a molecule of CH,, the bydrogen atoms are spatihl]y oriented toward the
corners of a regular o

(1) pyramid ~ (2) tetrahedron (3) square (4) rectangle

Compared to the rate of inorganic reactions, the rate of organic reactions
generally is

(1) slower because organic particles are ions )
(2) slower because organic particles contain covalent bonds :
(3) faster because organic particles are jong

(4) faster because organic particles contain covalent bonds

Which is the general formula for the alkane series of hydrocarbons?
(1) 'Cqum-z (2) CnHzn )] C-qu_'-z 4) Cqun-s
Which is a saturated hydrocarbon?
(1} ethene (2) ethyne (8) propene (4) propane
Which structural formula represents a molecule of butane?
' l‘-l Jr 7 }lf H ll-r HH . HH :
(2) H-Ic-c-c-f-n (3) wé-c-é—é—u 4 H—c:c-cl:-c!'-H i
ik ki) hh

(1)

1111
H-C=C-C=C-H

Which compounds are isomers?
(1) CH,Brand CH,Br, (3) CH,OH and CH,CHO
(2) CH,OH and CH,CH,0OH (#) CH;OCH, and CH,CH,0H

Which pair of compounds are isomers?
H,

——— ————

(1) GHyand CH,, (3) CH,CH,OH and CH,COOH i
(2) C;H, and G,H, (4) CH,CH,OH and CH,OCH, i
Which of the following hydrocarbons has the lowes normal boiling pointy :
(1) ethane (2) propane (3) butane (4) apenfang po

The compund C,H,, belongs to the serjes of hydrocarbons .with the general
formula

(l) C-Hgn (2) CnHEn+2 (3) CnHZn-! (4) GnHZn-E

Which compound is a saturated hydrocarbon? ._ — )
(1) eﬁhane (2) ethene (8) ethyne &) :qfﬁilﬁol'""'

. What is the carrect name for the substance below? -
e e et e el . .

(1) ethanol (3) 2-ethyl pentm
(2) 2-methyl butane (4) butane - ane

Which is the correct name for the subs tance below?
HH

11
H-C=C-H

(1) ethanol (2) ethyne (3) ethane (4) ethene
Which structural formula correctly represents 2-butene? ' 3
HHHH HHHH HH H

H

(1) H-r':-c':-él-cl:-u 2) H-é-c’--clz-r.:--ﬁ 3 )H-C.‘:c-é-cl-H (4) H-u!:-c-c-:l--n

HH E H I!I fll ' i!l l-lf
What is the formula of 2 :tene?
(1) CH, (@) CH, @) GH, (4) GH,
Which of the following hydrocarbons has the Aighest normal boiling point?
(1) butene (2) ethene () pentene (4) propene
Alkenes differ from alkanes in that alkanes
(1) are I:‘.lrocarbons (3) have the general formula C.H,,
(2) are samrated compounds () undergo addition reactions

In which pair of hydrocarbons does each compound contain only one doubje
bond per molecule?

1) G;H, and G,H, () C,Hyand G,H,

(2) CyEHj and C,H, (4) CiHyand CH

Which hydrocarbon is a member of the series with the general farmula A tr -
RS S e il
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1€ organic reaction Yaut

COOH + CH,CH,EH;EH;0H =—HCOOCH,CH,CH,CH, + HOH,
an example of (1) fermentation  (2) esterification

) polymerization (4) saponification

lkanes differ from alkenes in that alkanes (1) are hydrocarbons
) are saturated compounds (3) have the general formula C,H,_
) undergo addition reactions _

hich molecule is represented by X in the reaction

H-C = C-H+2Br, »X?

H H F'i *l*
[

) H—(l?—(ll—Br 2) H—Cll—(IJ—H
H H Br Br
H *H Br Br
{ | | !

) H—_(I:—cls—ar ) H-‘f—f—ﬂ
H Br - Br Br

hich equation represents an esterification reaction?
) CH,0,— 2C,H,OH + 2CO,
) CHy, +H,—»CH,
) GH; +Cl,> CH.Cl + HC1
) HCOOH + CH ;,0H— HCOOCH, -+ HOH
hat is the correct [UPAC name for
t 5§
H—C—C—C—H?

(I T
H H H

) 1,2-dichlorobutane (2) 2,3-dichlorobutane

) 1,2-dichloropropane  (4) 2,3-dichloropropane

hich equation represents a subsititution reaction?

) CH, +20,- CO, + 2H,0

) CGH, + Br, -» C,H,Br,

) GH+H, - CH, . -

) CH,, +Cl, » CHCE+HCI o
hich reaction produces ethyl alcohol as one of the pl_mmpal
oducts? (1) an esterification reaction (2) a neutrahzan_on
wction (3) asaponification reaction.(4) a fermentation reaction
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10.

14.

*HO — ZHD —%HD — HD —%HD — BHY

Which is the prodict of the reacfion‘between ethene and chlorine?
H H | H

(1 H—c::—clg—m ) H~(:?—Cl
H H H

T |
3) Cl—(IJ—Cll—Cl ) CI—(IZ—CI

H H H
In which type of reaction dre long-chain molecules formed from
smaller molecules? (1) substitution (2) saponification
(3) fermentation (4) polymerization
Cellulose is an example of (1) a synthetic polymer (2) a natura]
polymer (3)anester (4) a ketone
A reaction between CH,COOH and an alcohol produced the ester
CH,COOCH,;. The alcohol used in the reaction was (1) CH,0H
"(2) C;H,OH (3) C,H,0H (4) C.H,0H
An alcohol and an organic acid are combined to form water and a
compound with a pleasant odor. This reaction is an example of
(1) saponification (2) esterification (3) polymerization
(4) fermentation *
Given the equation:

Which type of reaction is represented? .

(1) condensation polymerization (2) addition polymerization
(4) esterification (4) saponification

Which is the formula of 2,2-dichloropropane?
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